Puzzle #332
[image: image1.png]A container contains 1/5 cup of grape
juice. The container is then filled to
the 1 cup mark with equal amounts of
grape, orange and cranberry juice.

What fraction of 1 cup is the
grape juice?




Puzzle #332

Answer

[image: image2.png]The grape juice is 7/15 of 1 cup.
Since we began with 1/5 cup grape juice,
that left 4/5 cup to be filled by three
different juices--all in equal proportions of
1/3 each. 1/3 x 4/5 = 4/15 for each of the
juices to be added. But since we started
with 1/5 cup grape juice, its portion is
1/5 4+ 4/15 or
3/15 + 4/15 = 7/15 cup.













